Combined Graduate Level Examination Tier | 2022

Roll Number
Candidate Name
Venue Name

Exam Date 07/12/2022
|[Exam Time 11:45 AM - 12:45 PM
ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning

Q1 gRA-BFISEfFA BHTRTNE A-BFTASSH A, BB ATGTE, A+B BT AT
& A, B 371 uTE 8, 9 FFraferf@a o & #19 a1 oivie g8 e sear g, f& p, R S amr g2

Ans X 1.R+P-Q
X 2.P-Q+R
X 3.Q-P+R
& 4P-Q+R

Question ID : 264330104984
Status : Answered
Chosen Option : 4

Q.2 fmfifEa o | F19 A1 SieR-uqg & TS J@ar § uyfiig (?) & I W 3Mwmn?
ZYWT, XWUR, VUSP, ?, RQOL

Ans 7 1. TSQN
X< 2.STaN
< 3.Tsam
< 4.TSPN

Question ID : 26433059854
Status : Answered
Chosen Option : 1

Q.3 39 ey &1 989 $¥ ol T Ton A I yeR Tt & R 7er gas T e
TSI A 3R TS T uiEdt HE @ Gaftd g1
5:150::6:7?::8:576

Ans 7 1.252

X 2.225

72X 3.255

X 4.222

Question ID : 26433078945
Status : Answered
Chosen Option : 1

Q4 fgfafEa o § o9 @ e §f 7 9o & yulRE (2) F ®E R smeft?

286, 192, 263, 176, 240, 160, 217, 144, ?
Ans X 1.186
% 2.165

2 3.190
 4.194

Question ID : 26433067870
Status : Answered
Chosen Option : 4




Q.5

Ans

R fow 7T uy &, TR Ten gw R 7 # | ude T # () & arlt 3R § S wem (<) F
T SR & 1§ Wen ¥ el adb/rauRidy @ WEitd 71 i g S Ue ae/Fameey
¥ 3MYR W ¥AME 7| 3T ¢ faeeat & & fwm &1 g1 (am < wemsi o1 3% waee
3t # favtfora frg fam, qof wemsit wr wfsart frrfaa @1 st wnfgw ) Sarewor 137 -
13 IR TS 39 5 13 § SigATACHIATON w71 oS frar s waar 31 13 31 1 3R 3 &
dreAT 3R fiR 1 3R 3 WR v WipaTe ®A Ft srgafa T8 @)

& 1.11-37
X 2.7-24
X 3.13-42
X 4.5-18

Question ID : 264330105066
Status : Answered
Chosen Option : 1

Q.6

Ans

Pt TR seR-TaeE § ¥ @ B FAfa a8 & T § ok 39 voR e T
T &1 P A1 eR-TAo 39 JUE I Jaferd 781 872

X 1.TYG
X 2.Xuc
« 3. HBL

X 4.UR

Question ID : 26433081493
Status : Answered
Chosen Option : 3

Q.7

Ans

TS 3o faar T €, O A v ue g 81 2 e fawenl #f 9 98 9%l fawew g, st
3T Bt T FRI
NMTS, SGAK, XAHC, CUOU, ?

< 1.RMNO
X 2. HYMO
< 3.0MQR
4. HOVM

Question ID : 264330104827
Status : Answered
Chosen Option : 4




Q.8

Ans

fou 7w et & @ 39 Il &1 Tua F A e mpfa-emen &
SeATIE (?) & TA 9 3T Tl 7

HEANERE

X 2.

Question ID : 26433080520

Status : Answered

Chosen Option : 3

Q.9

Ans

9 fou 10wy ¥ 5 FYA 3R IS 91¢ 39 HYUI W UTRd o fewpd faw v §1 faw
T HYT B TE AH, U & STH FTaa: Jid 9t @ fRrsrar g1 3ai ey ud ofik fbr
Fruifea =¥ & 19 @ freed, T T ST &1 aifhs w0 & SERu v 81

DY

LTt m, AR

I. &S A, RIS 21

e

|.aﬁ'§i\n,R=|€r'%|
I.FBAMEI
I.$IR,ATI

7< 1. 1aur i AT P SrERer Ra §
o 2.1 T 1| G FIh Y SRl vd &
2< 3. 113 1 G Feas e offeRor v §
X 4. ft frepd SrgERoT R §

Question ID : 264330104939

Status : Answered

Chosen Option : 2




Q.10 3T MY Y= FT YD Heaa= H¥ 3R I HEAT T T4 B, W ITA UAE (?) B
wfoefia

Ans

AP
gl ufd - 6, 9, 90
SO U - 12, 8, 120
daf ifei- 13,6, 2
(e m&ﬁaﬁmmmﬁﬁmﬁﬁmﬁm quf Tt R vy wfeang i
ST T1fRT | IeTeRvT & g 13 - Ry Tfrane SR % SisAae AN ST 3aife 13
T fpar oI qFar 81 13 B 1 3R 3 H fyurira &= 3R fibe 1 3R 3 wR niforedta Tfgramy
B P rgafa T 1)

& 1. 114
< 2.102
X 3.110
X 4.125

Question ID : 26433069202

Not Attempted and
Marked For Review

Chosen Option : --

Status :

QN

Ans

T By fow e B, Forads a1g 31 e 1 o 11 3 T §1 Fu=l &t I e g, wa @
I T U | 19 a & i wdta 21 8, Fuffa w3 5 - fsed, sy o
Al U | SR BT 2/ &

PY:

afte, £ 81

BIS 1, TR B

It P, c%'l

e

:I.gil?_;?p,t::?’fél

2< 1. a1 a w1 T 11 SR R B

< 2. Bacl FIspY | 3FFERT T2

o 3. 5aq Y || STERY HRAT B

X 4. T me | 3R A E 11 SERY R B

Question ID : 26433068490
Status : Answered
Chosen Option : 3

Q.12 AU 7Y Treql T SIS GBI F AR HARIT P & UL, B AT eg HY R

Ans

TR 3TE?

1. Remark

2. Remain

3. Remember
4. Remnant
5. Remanent

25 1. Remark
«” 2. Remember
< 3. Remnant
/< 4. Remanent

Question ID : 264330104891
Status : Answered
Chosen Option : 2




Q.13 ©a fAfda ge utaT A, "PRESIDENT' & 'RPESDINTE' fraT SiTaT 8 3R 'KNOWLEDGE' %t
"NKOWELGED" ferat sirar 1 3t 4T  'EDUCATION' Y fora s ?

Ans X 1. DEUCTOANI
«” 2. DEUCTAONI
/< 3. DUECTAONI
/< 4. DECUTAONI

Question ID : 26433059889
Status : Answered
Chosen Option : 2

Q14 o T oo R F 3ER PQ W @ S g, & R wa9ee & e
arer T@er 9T yfafe & =ae &1

FRUITFUL

e k0 JJUTUIAT
v= JUATIUAA
xs JUATUIAA
<+« IAUTIUAA

Question ID : 26433067822
Status : Answered
Chosen Option : 2

Q.15 fou T gHfiFRT & % Rl 1 e ©U q geaq 3R e &) Tgferd w4 & e
fFrafafaa faeeul # | i fagl & 9 JueH 1 9aa Fim)
[{(32 % 28) % (6 % 4)} % (1 % 7)] % 5 % 20

Ans o 1.+ %, 5 % x =

x2_x,—,+,x,7’x,=
23 X, X, X, X, =
X4_x,—,x’x,—,+,=

Question ID : 26433087054
Status : Answered
Chosen Option : 1

Q.16 el & A IW A= FT 994 DI Fored & 18 wemsit & o adt Wy 8, o day

i fow e wg= #t semnsi & fu g
(e MU HEmai wR HIs o Tihar 39% yew 3wl ¥ fawnfora far famr, gof Temait

W)
(12, 112, 9)
(10, 84, 8)

Ans X 1.(12, 149, 12)
X 2.(11,99,9)
< 3.(13, 55, 4)
4. (18,94, 5)

Question ID : 26433069231
Status : Answered
Chosen Option : 4




Q.17 39 UG- BT g4 DY, S Step I Tdel T FAeqor Har1 8, o day foy e sy
g | 3o g1
(gt Y 3ol RIsgl & =T F AT ST AIRT 3R Weg & &R Pt G-/ Pt
TRTRGR] B W & SR W RIAR FaTUd g1 g1 T1ie)
yyidiex : aoaE
Ans X 1. @I : AT
X 2. 9SHeR : gSt e
o 3. STIHICR : 39 BT SfTadiior Wik
X 4. 3SR - BR

Question ID : 26433068420
Status : Answered
Chosen Option : 3

Q.18 fafRa Tz # wd ([ighea) F33 ¥ Rrg 5 3§ 1l fugl ol g Temnsit w
ST § TG gRI?
98-9x21+7+56=69

Ans X 1.98 3R 9, + 3R x
7 2.56 3R 21, + 3R x
o 3.56 3R 9, + 3R x
X 4.213R7, + 3R -

Question ID : 26433068681
Status : Answered
Chosen Option : 3

Q.19
TF & 9 Fr DT erET-srenT R A e i F
'3’ gy I Borss & 9T wes W ST §r JEar HeE?
ICER =2 ICEE]
Ans X 1.5
& 2.1
X 3.6
X 4.2

Question ID : 26433079372
Status : Answered
Chosen Option : 2




Ans

Q.20 35 fameq SEid o 9a- S e & 712 1Ph (x) ST HFT 6 w0 3 [0l 83 & (i & gaH &1
ST B)

[t2]

x 1.

x 2

RIRER

Question ID : 26433068899
Status : Answered

Chosen Option : 4

Q.21

Ans

Tw A3 $e YT ®, '"ABOUT’ ®1 'YZQSR' 3R ‘PARTS' ®1 'NYTRQ' & & # forar wmar
21 3t e UTT H 'PLANT' P! fr Wb & foram smam»

 1.NJCLR
< 2. NJDLP
< 3.RJCLV
< 4. NICRL

Question ID : 26433069566
Status : Answered
Chosen Option : 1




Q22 337 gl & 797 = S T FPA-gEer F AR (?) F FF W HwA?

ONOIOY| ?
xw..ﬂ
O

Ans

W_QH

Question ID : 26433065980
Status : Answered
Chosen Option : 4

Q.23 39 ey o1 9= PR, oRIeT viad ieR-T9g | 3P I8! oy §, St TaY gav 31eR-

TR FT UEA AEGR-TYE I ¢ X I8 WY Y 3eR-THE BT HAY &R THE A 81
BEAR : QZDA :: DUST : SRTC :: GOLD : ?

Ans X 1.KCFN
< 2. CNFJ
« 3. CKNF
X 4.FGNC

Question ID : 26433069018
Status : Answered
Chosen Option : 4

Q.24 f3T Y 3 fREl #) MU § WER geoq W FafifEd & & S a1 wwieo 98 ghm?
+qUT -

Ans X 1.55+11-15+3x2=15
X 2.4x3-6+2+7=7
& 3.15-7x8+18+3=65
X 4.529+23+10-5x4=30

Question ID : 264330105117
Status : Answered
Chosen Option : 3




Q.25 ‘A« B BT HTR'A, BF T

A*B PTASE A, BPIAMIT

‘A@B BTAfe B AF @I

‘A#B BT AFT'B, AB TA T
gveoU@WHY*Z8, alV, 2 A frg v Tefia 82
Ans 1. 96

< 2. far

2< 3.9

X 4. Tadt

Question ID : 26433068462

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : General Awareness

Q1 Wila & R R SH-a1 FHram snurfea a2
Ans .y 1 3% a0

X 2. TScita &1 g

X 3. ged & |

X 4. YT 3mad IO &1 fAay

Question ID : 26433086700
Status : Answered
Chosen Option : 2

Q.2 foafifad # @ S=-a1 der Rifeeq & gdfia T8 32
Ans X 1. 3T

2. 7S]

X 3. 4R

X 4. qpal

Question ID : 26433071668
Status : Answered
Chosen Option : 2

Q.3 ffRy TorgH & &1d &Y yga Sifo|
Ans X 1. FelERSCH &I e

X 2. oM &1 urgRiiaRu

2< 3. ol 3R 991 B =T

o 4. UIEH & =T

Question ID : 26433086748
Status : Not Answered
Chosen Option : --

Q.4 YPHSH gaT Tal & Ugd TEDHRUI BT SATHI Hel far T 412
Ans X 1. Tqed H

X 2. R

X 3. o d

4 TS A

Question ID : 26433071547
Status : Answered
Chosen Option : 3




Q5 frafafad d A S 1857 F fage &1 ger Fg "=E u1?
Ans X 1. &l

 2.JgqH

X 3. qETS

X 4 PR

Question ID : 264330105588
Status : Answered
Chosen Option : 2

Q.6 -gaR 2022 H, o= graTed A e U | HUER T (EwS) I Tl @t &)
U SREUT Y™ H31 a1a 1039 HAUTP TN Pt Ae/dl I RPIR 39T

Ans 7 1.10
X 2.5
< 3.20
X 4.15

Question ID : 264330105213
Status : Answered
Chosen Option : 1

Q.7 yrfior YR o ASAIR TR S1dwd (RLEGP), fFafefad d @ fea duadf giern &
= foar mar ur?

Ans X 1. Uigdl
2.3
X 3. 9radr
X 4. R

Question ID : 26433064513
Status : Answered
Chosen Option : 2

Q.8 YR I FERT & g iftawe & fra wfaf~fRrat =y R a2
Ans 7 1.434

2 2.190

X 3.212

X 4.628

Question ID : 26433085279
Status : Answered
Chosen Option : 3

Q.9 faeeh TR o (wie) fadae, 2022 &1 P AT § e forar A
Ans X 1.15T8, 2022

2< 2. 30 30, 2022

2 3. 20 30, 2022

4. 25T, 2022

Question ID : 264330105290
Status : Not Answered
Chosen Option : --




Q.10 Fafafaa 3 @ o1 @ 7 Doft ifEwn & Ra 82
Ans X 1. FHqr

X 2. ®ad

« 3. TRt

X 4.

Question ID : 264330105666
Status : Not Answered
Chosen Option : --

Q.11 3yagar 2022 ¥, FEY WA 3R URGR HeaT01 HATTT GIRT "Tele-MANAS' Tgd IR= Bt
TE ot 1 MANAS & "M T S=ITaT 87

Ans X' 1. Memorandum (ﬁ'ﬁﬁm)
« 2. Mental Health (Hed &)
7 3. Multicultural (Aec @ eaRa)
< 4. Medicinal (TSR

Question ID : 264330105289
Status : Answered
Chosen Option : 4

Q.12 YRdg w@Ru™ ¥ 11af Hifere Hedor {5 af wisr mar 412
Ans X 1.2006 H

o 2.2002H

7 3.2000H

X 4.1970H

Question ID : 26433080967
Status : Answered
Chosen Option : 3

Q.13 W% T afvm Fafafed & 9 e yRdra =g @ afta g2
Ans X 1. 3RPUTEIE YR

X 2.5
3. TR
X 4.3RES

Question ID : 26433064652
Status : Not Answered
Chosen Option : --

Q.14 fafafaa & @ w19 W@ qae smivg grT faeh 8 o2
Ans X' 1. ATy U

2. ITuEgH
7 3. 3% Rrgia

X 4. 41qUIS

Question ID : 264330105207
Status : Answered
Chosen Option : 3




Ans X 1. dRIT R

&3 AR

% 2. Red YR

X 4. OiHid Rl gfaer &

Q.15 agmamu?%umhuﬁm‘%,éﬁaﬁemﬁmm(liquidity)mm%,
_ pgad?l

Question ID : 264330105377
Status : Answered
Chosen Option : 3

Ans X 1. TSR
X 2. HERY
3. atETg
X 4. DUcH

Q.16 YRd & Ug Soif BT Y fawrmeras & ¥ afRyd g

Question ID : 264330105501
Status : Answered
Chosen Option : 1

Ans X' 1.15 3T
X 2. 26 TG
o 3.26 TdR
< 4.18 ddR

Q.17 <ifayH

) {1 STt 2

Question ID : 26433086585
Status : Answered
Chosen Option : 3

Ans X 1. 3fTA
X 2.3
< 3.3
4.0

Q.18 AT 3R SrifATY & THH SRrB13 BT HGE 21

Question ID : 264330105451
Status : Answered
Chosen Option : 4

Ans 41.13@@}
X 2. ey
7 3. ®HlcH
X 4.3RES

Q.19 ~uT J e uRedta e @ wafta 82

Question ID : 26433054324
Status : Not Answered
Chosen Option : --




Q.20 Rt & Fafifed & ¥ $19-91 R ga@ F a1eR A ga & a1  F 3R 781 g1 22

Ans X 1. BIEEd
X 2. 9eK®
X 3. ST
& 4 SHES

Question ID : 26433059445
Status : Answered
Chosen Option : 3

Q.21 HI T A ¢ PT TG T SUTGH 2?2
Ans 7 1. YRd

7 2. prafean
< 3. 9o
X4 d=

Question ID : 264330105614
Status : Answered
Chosen Option : 3

Q.22 PR § § $19-9 71 ) SR 9 F) TP TS A (right back tributary) 872

Ans < 1. T
2.9
X 3. BRI
X 4.7

Question ID : 26433066515
Status : Not Answered
Chosen Option : --

Q.23 qergr fory Ireraer o Tt A2
Ans X' 1.7

2.9
X 3. RAR
X 4. IPIEhH
Question ID : 264330105441
Status : Answered
Chosen Option : 2
Q.24 frow &1 TTaE 93 ]l

Ans X 1. MgS04.12H,0
X 2. CaSO412H,0
< 3. MgS04.2H,0
4. CaS04.2H,O

Question ID : 26433066468
Status : Answered
Chosen Option : 3




Q.25 aﬁg‘ﬁwmwﬁmaﬁﬁmﬁﬁmﬁmﬁ% TR B g1 Pt @iy
_ »uNmadRl

Ans X1.BE|F|1=[7CI'I'€I'IFI'€[
X 2.7 fauriet
3. 5 AU
X 4. TSfq HaTT™

Question ID : 26433064840
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 e T &1 uRETT 124 Wex B 1 IAFT A% 19 BHQI
AN v 961 m?

72 gg4m’

73 448 m?

X4 764 m?

Question ID : 26433063902
Status : Answered
Chosen Option : 1

Q.2 e § o
qﬁ{ x:—;:_"’.%,?ﬁx3.—;=?
Ans X 1.1
& 2.2

X 3.8
X 4.0

Question ID : 26433075267
Status : Answered
Chosen Option : 2




Q.3 = faar war 9w fr 8 faftrs wufera) grRT 3+ 1€ PR @Y Wen $ exiar @1 g7 9 8
U RT3 1S BRI Bt Ho HSAT 10,000 B 1 TH AP FHueit gR1 36t 1€ wR Ft
mﬁsﬂmﬁsawﬁﬁmaﬁnémaﬂgﬁrm%m%wﬁmw%

fPrafafad & § 919 a1 Hy= 98 27
1. SUAY B, F 3R H §RT 3=t TS PRI &Y 3T T2 100 &1
I1. A GRT 93t T SR FY TSI FT E gRT I TS R $1 TS A 3T 4 : 5 7|

Ans X 1. Hadll
& 2. BTG
2 3. 13T 11 g
X 4. Had|

Question ID : 264330105768
Status : Answered
Chosen Option : 2

Q4 TP QA [Adhdl ATEd! B o Ead Te W 20% BT Fe 3R gt F s Rad wiieq
TR 25% B Pe a1 3 | TP Tad WiieA ara 9t amgat &t 10% 3t ge & o1 & 31 ot
P 3T A 5% B AR Fe < AW | TP Hias H TH.HH. B UgTs A ard B, Jgd
Rs.513 1 G WIGH | G&IP $T ifhd Geg Fa1 U172

Ans X 1.Rs.540

< 2.Rs.650
< 3.Rs.605
4. Rs.600

Question ID : 26433075860
Status : Answered
Chosen Option : 4

Q.5 Tfg 1 + sin® = mcos8 &, T sind BT A FT EIIT?

Ans 2
m*-+1

X 1.
mZ-1

& 2 m*-1

mZ+1

2mZ-1
X3 =
mZ+1

K 4 mZ+1
Zm?-1

Question ID : 26433066255

. Not Attempted and
" Marked For Review

Chosen Option : --

Status




Q.6

R § 7S arfereT faftr aut § S pufa & oag @ gt R

FIAT
ay | L | M
P | 200 | 500
Q | 150 | 350
R | 300 | 250
s | 100 | 150
T | 400 | 100

J1 =9 5 a6t & U L 1 pa |
J2 = 9t 5 auf & U M &1 Fa g|
(J1 : J2) BT A FT 8?2

Ans 7 1.23:27

/5 2.29:23

/K503.27:23

54.21:29

Question ID : 264330105741
Status : Answered
Chosen Option : 1

Q.7

Ans

3[a—§]+[a—33=?

1
3

1. &° ——%
4 )
3=

X2 a+—
1

&3 Z:lz——3
a

A
x4 at-—

Question ID : 26433085783
Status : Answered
Chosen Option : 1

Q.8 T VA TS S T AT B WAt § S HILTROT TS a1 31 AR 3 a6t F 1.25 A1 &1 vt 21
Tfe q1a 91 & 91 27,60,000 P ATARIHT B, A I TIAH AT 1 TR B & forg forady

Ans

Y Tt TR (2 H) S BT Afge?
« 1.4,80,000

< 2.6,00,000
< 3.5,70,000
X 4.5,20,000

Question ID : 26433085459
Status : Answered
Chosen Option : 1




Q.9 20 cm 3R 16 cm T ITA G TH T g0 TIC W &1 TS I6 B I Siial H1 TS T

I S B 9w &t R 82

Ans X 1.12cm
/< 2.48 cm
o 3.24cm
/< 4.34cm

Question ID : 26433066394
Status : Answered
Chosen Option : 3

Q.10 wq@aﬁwﬁﬁam faora 3R wdivr ue SrTgie R ol 7R 78 ¢ 1 fava &t

mfﬂmﬁmlm?’

aﬂﬁmzmaﬁﬁ af T P A TA RI A A 8
% SO P PRUN, I THIaR W8 F YR R 39

meﬁmm%mmﬁmﬁmmﬁmaﬁvw%mﬁﬁvmm
P 3R 3 TR M 2t 3 S HI | A T TR W8 F YR W B B 8 a

1Y fa Wwre ® R 81 Srem?

Ans X 1.8
& 2.95
X 3.9
X 4.85

Question ID : 26433081645
Status : Answered
Chosen Option : 2

Q.11 TS < AABC ¥ 3fafifga & 3R Y F YT AB = 16 cm, BC = 20 cm 3T AC = 24 cm
€, TUT YOIT AB, BC 3R AC g &1 ShHRI: D, E 3R F U TR el &1 AD HT HIY T g2

Ans X 1.6cm
< 2.14 cm
o 3.10cm
/< 4.20 cm

Question ID : 26433061333
Status : Answered
Chosen Option : 3

Q12 g gHaR @ TG H 110

T FHY- I T2
Ans X 1.Rs.4,874
o 2. Rs.5,200
7 3. Rs.4,800
X 4.Rs.5,274

BIF IR &9 21 a2 98 39 71,274 SIS A A 2, TS 1o T AH A B

Question ID : 26433063696
Status : Answered
Chosen Option : 2




Q.13 cos45° sin15° DT HI FT &2

Ans
& 1. (‘JE _1}
4

X2 2431
X 3. (\IE_]}
2

K4 B+

Question ID : 264330105902
Status : Answered
Chosen Option : 1

Q.14 9 12 AR & TH TUE A 58 kg IO ATt Afed B TH ¢ AfGa § glawiriia fosar

W71 8, 9 9% 3NHd aoi | 3.5 kg P gfg Bt 81 7T Sfaa 1 g a1 gRI?

Ans X 1.16 kg
2. 100 kg
/< 3.42kg
X 4.70kg

Question ID : 26433062626
Status : Answered
Chosen Option : 2

Q.15 T T & 209 Frarhdl @ aafvar & 70 81 1%, T gexid a7 81 1S, Foreds R, 7
gU FHarfral & 9 30% FHarimal 3 wia Bis faan a9 7ifg $ S= e 12,000 & T yRY &

il &t wen @ &t (SR Pl T 9% 31d Fif)

Ans X 1.21000
< 2. 21500
< 3.30428
o 4.21428

Question ID : 26433074982
Status : Answered
Chosen Option : 4

Q.16 Tfe A ABC ~ ADEF 39 Y& & f 2AB = DE 3fR BC = 8 cm, @Y EF 3 a8

Ans X 1.18cm
 2.16cm
/5 3.20cm
X 4.22¢cm

H

Question ID : 26433075283
Status : Answered
Chosen Option : 2




Q.17 g5 B A S} HW @ FY, S 9, 24 3R 36 | gofa: fyursa a1
Ans 7 1.72

X 224

X 3.36

X 49

Question ID : 26433075787
Status : Answered
Chosen Option : 1

A1 Lo arame #F T ARTT AR F e fRer S F s ek
oea (e T #) R@m T ¥ aR-AaE @ emegEs Gev AR 3Ee
TE I AT T H 3 G|

1800 1650
1537 1522

1600
1600

1400

1200

1000

800

B00

400

200

]
2015-16 2016-17 2017-18 2018-19 2015-20

B yrrg B EaE

I 2017-18 F SN0 3maTe, T 2016-17 % SN0 3mara # faraer 7
2?2 (ZrHTT & A T 9% TEr 3eaT AfS)
Ans 7 1.1.33

% 2.1.60
< 3.1.50

X 4.123

Question ID : 26433080345
Status : Answered
Chosen Option : 1




O T AT F7 aeTE AT 3 T8 Fua 7 a9aT £

51§ (cm #) | AN (kg #)
156 69
155 68
145 61
142 60
141 58
139 55
135 45

Ans X 1.8 94 & Y HR gedl 2|
X 2. S8 3R YR Us 2R I et et &1
3. 518 F6 & WY YR dedl g
7 4. $A1S U & 1Y YR dgdT B

Question ID : 26433092154
Status : Answered
Chosen Option : 3

Q.20 1 430 7% frasit =Y 7 3R 11 G A favrsT &2
Ans X 1.9

X 2.7
% 3.1
& 4.5

Question ID : 26433074219
Status : Answered
Chosen Option : 4

Q.21 TP ATeHt 48 km G TP I TR A9 TATHR ST & 3R 14 4 § G109 371 § | I8 Tl &
5 98 URT & WY 4 km D1 g TY B THdT 7, WAl I TUT A 4RT P fAudid a8 3 km
P g T B qPHaT g1 YRT P TA 7

Ans X 1.3.5km/h
7 2. 1.5km/h
«” 3. 1km/h
X 4.1.8km/h

Question ID : 26433082104

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.22 1 1
R K+—+2=0 auwk<od @t K0+

K K
Ans X 1.-1
X 2.2
< 3.1
& 4.0

BT HIH 1272

Question ID : 264330105916
Status : Answered
Chosen Option : 4




Q.23 gf314:30:: 7 : x 8,1 x BTHFA AT 2?2
Ans X 1.21

< 2.09
X 3.12
& 4.15

Question ID : 26433066365
Status : Answered
Chosen Option : 4

Q.24 ﬁ'g\-érxvzﬁ, P FIY XYz &7 3ia:F% 81 afe HIor XYZ = 50 f&3ht 8, &Y F1vr XPz ®1 71
R

Ans X 1. 140 f&h
> 2.100 f&3h
3. 115 f&h
< 4.130 f&Iht

Question ID : 264330105834
Status : Answered
Chosen Option : 3

Q.25 &) gl Pt Ul HHRT: 308 A, TUT 440 .. §1 9! Brurseii & 7eH =R 71872
Ans X 11491

X 2,499
7 33590
42194

Question ID : 264330105856
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Select the most appropriate meaning of the underlined idiom in the given sentence.

The MD of the company let the cat out of the bag by telling her secretary, who got the
much coveted promotion.

Ans X 1. secretly confide
/< 2. openly confess
«” 3. To allow a secret to be known, usually without intending to

/< 4. Creating a false story

Question ID : 26433072087
Status : Answered
Chosen Option : 3

Q.2 Select the INCORRECTLY spelt word.
Ans X 1. Languish

«” 2. Discusion
/< 3. Altitude
< 4. Longitudinal

Question ID : 26433060910
Status : Answered
Chosen Option : 2




Q.3 Fill in the blank with the correct collocation.

Brady straightened, the baton in hand.
Ans 7 1. wooden

/5 2. open

/< 3. charge

5 4. swing

Question ID : 26433090500

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 Select the most appropriate option to fill in the blank.

A faint mist over the valley.
Ans X 1.swayed
«” 2. hung
/< 3. dangled

/< 4. swung

Question ID : 26433087939
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence.

He is in debt due to his judicious tastes and habits.
Ans X 1.frugal
/< 2. moderate
«” 3. extravagant
/< 4. affluent

Question ID : 26433088484
Status : Answered
Chosen Option : 3

Q.6 Select the correct indirect form of the given sentence.
She said to me, “You will speak at the conference tomorrow.”

Ans X 1. She told me that | would speak at the conference that day.
/< 2. She told me that | might speak at the conference the next day.
«” 3. She told me that | would speak at the conference the next day.

/< 4. She told me that | will speak at the conference the today.

Question ID : 264330104608
Status : Answered
Chosen Option : 3




Q.7 Select the option that expresses the given sentence in passive voice.
The patient remembers his son taking him to the temple.

Ans ” 1. The patient remembers being taken to the temple by his son.

/5 2. The patient remembers he was taken to the temple by his son.

/< 3. The patient remembers himself being taken to the temple by his son.

/% 4. The patient remembers taken to the temple by his son.

Question ID : 26433088546
Status : Answered
Chosen Option : 3

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. It not only distances the addict from his/her social circles but also impacts their

productivity badly.
B. People begin drinking just for the sake of it and gradually make it a habit.
C. Addiction of any kind, including alcoholic addiction impacts all aspects of an

individual’s life.

D. Once it becomes a habit, it does not require much to change into an addiction.
Ans < 1. DBCA

/< 2. BDAC

«” 3. BDCA

< 4. ACBD

Question ID : 26433093053
Status : Answered
Chosen Option : 3

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

Formal forgiveness of a person’s sins
Ans ¢ 1. Absolution

/< 2. Ablutions
< 3. Absolutism
/< 4. Forgiveness

Question ID : 26433071928
Status : Answered
Chosen Option : 2

Q.10 Select the correct direct form of the given sentence.
The secretary assures the audience that he/she is going to help them.

Ans ¢ 1. The secretary says to the audience, “l am going to help you.”
/< 2. The secretary says to the audience, “I will be going to help you.”
/% 3. The secretary said to the audience, “I am going to help you.”

/< 4. The secretary says to the audience, “l was going to help you.”

Question ID : 264330104647
Status : Answered
Chosen Option : 1




Q.11 Select the most appropriate ANTONYM of the underlined word.
Construction plays a central role in transforming the natural environment into the built
environment, and many considerations and restrictions can apply before a project is
given consent to proceed in terms of how it may influence the environment.

Ans X 1. Bickering
5 2. Expulsion
«” 3. Interdiction
/5 4. Directive

Question ID : 26433061567
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate meaning of the given idiom.
Take something at face value

Ans X 1. Not laugh or change your expression even though you want to laugh

«” 2. Accept something as it looks without thinking about whether it might, in fact, not be
quite what it appears

/< 3. Show that you do not like something by making an unpleasant expression

< 4. According to the appearance of something

Question ID : 26433060470
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate ANTONYM of the underlined word.
It is undesirable to invest a part of your earnings for future use.

Ans X 1.meek
/< 2. unadvisable
< 3. foolish
«” 4. advisable

Question ID : 26433059729
Status : Answered
Chosen Option : 1

Q.14 Select the correct active form of the given sentence.
My cafe has been revisited by many tourists.

Ans X 1. Many tourists has revisited my cafe.
«” 2. Many tourists have revisited my cafe.
#< 3. Many tourists revisited my cafe.

< 4. Many tourists did revisited my cafe.

Question ID : 264330104579
Status : Answered
Chosen Option : 2




Ans

Q.15 Rearrange the parts of the sentence in correct order.
Kemp's ridleys are

P. usually found in nearshore and

Q. inshore waters of the northern

R. Gulf of Mexico, especially in Louisiana waters,

S. which are their primary feeding grounds

« 1. PQRS
X< 2.PRSQ
X 3.SRQP
X 4.QPSR

Question ID : 264330104684
Status : Answered
Chosen Option : 1

Ans

Q.16 Select the sentence with the appropriate use of preposition.

«” 1. Ashok was at the bus stop.
/< 2. Ashok was to the bus stop.
< 3. Ashok was on the bus stop.
< 4. Ashok was in the bus stop.

Question ID : 26433073889
Status : Answered
Chosen Option : 1

Ans

Q.17 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

During my time-taking and gradual convaelescenc after my back injury, my family was

by my side.
< 1. convalecense

/5 2. convalesaence
«” 3. convalescence

25 4. No error

Question ID : 26433058642
Status : Answered
Chosen Option : 3

Q.18

Ans

Select the most appropriate ANTONYM of the underlined word.
The actor was ridiculed for her nonchalant attitude towards her work.
< 1. Unconcerned
/< 2. Boisterous
«” 3. Considerate
/< 4. Retrospective

Question ID : 26433070521
Status : Answered
Chosen Option : 3




Q.19 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

A great transition / marked / the 20" century / for mankind

Ans 75 1. A great transition for mankind marked the 20t century.
2< 2. For mankind, a great transition marked the 20t century.
«” 3. The 20t century marked a great transition for mankind.

2< 4. A great transition marked the 20t century for mankind.

Question ID : 26433058345
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate ANTONYM of the given word.

Pacify
Ans X 1. Assuage
/< 2. Placate
«” 3. Aggravate

< 4. Quell

Question ID : 26433060696
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank

The British king, Charles |, had (1) a very difficult financial situation from his father. His
period saw a very high rate of inflation. He wanted to (2)___ money. Therefore, he (3)
creating the title of Baronet and selling it to (4) candidates. However, his decision was
(5) by the British parliament.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 7 1.inherited

5 2. devised

/5 3. genetic
5 4. owned

Question ID : 26433086468
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank

The British king, Charles |, had (1) a very difficult financial situation from his father. His

period saw a very high rate of inflation. He wanted to (2) money. Therefore, he (3)
creating the title of Baronet and selling it to (4) candidates. However, his decision was
(5) by the British parliament.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.upraise

o« 2.raise
< 3. lift
X 4. bring

Question ID : 26433086469
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank

The British king, Charles |, had (1) a very difficult financial situation from his father. His
period saw a very high rate of inflation. He wanted to (2) money. Therefore, he (3)
creating the title of Baronet and selling it to (4) candidates. However, his decision was
(5) by the British parliament.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 7 1. started

/5 2. continued

/< 3. appeared
/5 4. ventured

Question ID : 26433086470
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank

The British king, Charles |, had (1) a very difficult financial situation from his father. His
period saw a very high rate of inflation. He wanted to (2) money. Therefore, he (3)
creating the title of Baronet and selling it to (4) candidates. However, his decision was
(5) by the British parliament.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1.opulent

o« 2. wealthy
< 3. resourceful

/< 4. healthy

Question ID : 26433086471
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank

The British king, Charles |, had (1) a very difficult financial situation from his father. His
period saw a very high rate of inflation. He wanted to (2)___ money. Therefore, he (3)
creating the title of Baronet and selling it to (4) candidates. However, his decision was
(5) by the British parliament.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.unaccepted

/< 2. abandoned
«” 3. rejected
X 4. banished

Question ID : 26433086472
Status : Not Answered
Chosen Option : --




